
Filling in an ANOVA table - Equations

𝑆𝑆𝑡𝑜𝑡𝑎𝑙 = 𝑆𝑆𝑏𝑒𝑡𝑤𝑒𝑒𝑛 + 𝑆𝑆𝑒𝑟𝑟𝑜𝑟
𝑆𝑆𝑏𝑒𝑡𝑤𝑒𝑒𝑛 = 𝑆𝑆𝑡𝑜𝑡𝑎𝑙 − 𝑆𝑆𝑒𝑟𝑟𝑜𝑟
𝑆𝑆𝑒𝑟𝑟𝑜𝑟 = 𝑆𝑆𝑡𝑜𝑡𝑎𝑙 − 𝑆𝑆𝑏𝑒𝑡𝑤𝑒𝑒𝑛

𝑑𝑓𝑡𝑜𝑡𝑎𝑙 = 𝑑𝑓𝑏𝑒𝑡𝑤𝑒𝑒𝑛 + 𝑑𝑓𝑒𝑟𝑟𝑜𝑟
𝑑𝑓𝑏𝑒𝑡𝑤𝑒𝑒𝑛 = 𝑑𝑓𝑡𝑜𝑡𝑎𝑙 − 𝑑𝑓𝑒𝑟𝑟𝑜𝑟
𝑑𝑓𝑒𝑟𝑟𝑜𝑟 = 𝑑𝑓𝑡𝑜𝑡𝑎𝑙 − 𝑑𝑓𝑏𝑒𝑡𝑤𝑒𝑒𝑛

MS= !!
"#

SS= 𝑀𝑆×𝑑𝑓

df= !!
$!

𝐹 =
𝑀𝑆𝑏𝑒𝑡𝑤𝑒𝑒𝑛
𝑀𝑆𝑒𝑟𝑟𝑜𝑟

MSerror= $!%&'(&&)
*

MSbetween= 𝑀𝑆𝑒𝑟𝑟𝑜𝑟×𝐹

𝐷𝐹𝑡𝑜𝑡𝑎𝑙 = 𝑁 − 1
𝐷𝐹𝑏𝑒𝑡𝑤𝑒𝑒𝑛 = 𝑃 − 1
𝐷𝐹𝑒𝑟𝑟𝑜𝑟 = 𝑁 − 𝑃
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𝑆𝑆𝑏𝑡 = 𝑆𝑆𝑎 + 𝑆𝑆𝑏 + 𝑆𝑆𝑎𝑥𝑏

𝐹𝑎 =
𝑀𝑆𝑎

𝑀𝑆𝑒𝑟𝑟𝑜𝑟

𝐷𝐹𝑎 = 𝑎 − 1
𝐷𝐹𝑏 = 𝑏 − 1
𝐷𝐹𝑎𝑥𝑏 = 𝑑𝑓𝑎 ∗ 𝑑𝑓𝑏

𝑑𝑓𝑏𝑡 = 𝑑𝑓𝑎 + 𝑑𝑓𝑏 + 𝑑𝑓𝑎𝑥𝑏

𝐹𝑏 =
𝑀𝑆𝑏

𝑀𝑆𝑒𝑟𝑟𝑜𝑟

𝐹𝑎𝑥𝑏 =
𝑀𝑆𝑎𝑥𝑏
𝑀𝑆𝑒𝑟𝑟𝑜𝑟


